1.

sholat,

:rL

Sk.O
U=

1

© 6 ® 9 ® 7 ® 10

@ 2

® 12




© 12 x 3 xyP =)z
© a® xb?>xa®xb?=aSp*

@ xxx®xy?xy®xz®=xHT?

=
=%
e =

=%




3. H=4

>

=

K -9—;(]

O

o o
© 7] ore 709

D adxa®=4d° @ éBxat=d"
@ 23X22:25

@ x4 x 3 = x12
B p3x pb = p?



4. Oiuﬂ /\]oﬂ/\_} )C
—2x 5 S5 710 Zpm=
e s A A ey

@© 2x?
X°+x @ 322 - x 3 )
4x° +x

@ 5x2 43
X
B 6x2 + 5x



@ ax(b+c)=@
@ (a+b)xc=—



6x + 2x(x — 2) — 4x? + 2x + x X (=3x)

@ 9 B 12

B 6






D 9

=

® 170

® 270

@ 370

® 47}




Pl e ol 1) 4) ok

o
vheh 4 91et,

@ #

® 0O, ONGNC)

ORON®

® A, 0.6

@ (A, 0, ®



10.

(x3)a = x16

D 1

+x 4, a9 F2?

® 2 3 3



a\ b
1. (2) - 1?23“ Dl atb+c o G Fotelet

>R
=%



12, 212x51 & % A2l e] 517 Fofofer,

SR Aelo] 4



13.

2] (5x2 = 3x +4) + (202 + x - 1) & 713

@ 2x2-5x+6 @ 5x2-2x+5

@ 7x2-9x+3 ® 7Tx2-3x4+6

stel?

@ 5x2—4x+2






15, 4x+3y=2 ¢ o, 5(x-3y) — 2 (4x—3y) & x o] T3 A o2 e}
Hojet.

B
=¥



16. a=x+2y, b=3x—y QW 4a-3b & x, y o] T3t 202 LJeRY
H?

@ —5x+ 5y @ —5x+9y ® —5x+ 11y

@ -5x+ 3y ® -bx+y



17, 24t3a 420 — 512 A W, g 9] gh& Fshoiet

>R
=%



18. (x+y):(r-y) =3:12 0, 2 o zre9
x—4y

9 9
® -2 @ Z ® -3 @ 3



P2 x +1.9 = 2.39] 315 FoHH?

® 0.03 3 0.13 @ 0923

3 0.33



20. TH& Aol ASHe v, y o thete] 24y o] ZES Fotele

25(2x+y) 1 36+ 1
5(3x-2) 25’ 81(h) 97
D 0 2 -2 B3 -4 @ -6 B -8




